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Tiic owners of Stewart Company are
interested in selling their business (( they can get an acceptable price. They have asked
you to hielp determing a “benel mark” selling price that can be used when negolialing
with 2 petentlal buyer. Using information contained in the company’s financizl state-
ments, you prepared the following sununary.

YEAR NET ASSETS  AEPORTED NET INGCOME
X1 240,000 ' $23,550
18%2 262,000 27 480
19%3 285,000 . 30,900
1974 314,000 _ 32,600

195 336,000 34,970

You believe that the balance sheet has consistently shown faiz values for all assets
and liabilities. Your approach In determining the company's return on its net assels is to
relate the average net assets hield for the past five years with the actual average mmual
carnings for the same perind, .

(27%) The nermal rate of return on net assets for companies in the same incdustry is 9%.

Required: = = : .

L. Determine a “hench mark” selling price for the company assuming that implicd good-
will can be measured by mulliplylig the above-average earnings by 5.

2. Determinc a “bench mark” seiling price for the campany assu ming thatimplicd good-
will can be measured by eapitalizing the ubove-average enrnings at the pormal rate
of return on not assets for the mdustry. '

3. Assume that the negotialions between buyer and selles resuit in ?Ile company’s heing
sotd on January 5, 19X6, for $358,000. Assume also that in the Hest year after the
company was purchased, it earned a 10% return based on the net assets acquired on
January 5 {excluding goodwill). Determine the reported net income lor the first year
assuming goodwill is amortized over a period of twenty ygars,

4, In (), the value of- goadwill (V) is detcrmingd by dividing the above-average
earnings (E) by the noomal tate of return on nel assels for the industry (i). Prove the

formula, V=B/i. [Hint; # /1 % 1L 4 #fo 2 X))

-—

o~ Shaker Corporation experienced a fire on December 31, 1996, in which its financial
tecords were partially destroyed. It-has been able 10 salvage some of the records and has
ascertained the follawing balances:

December 31, 1998 December 31, 1995
Cash $ 30,000 5 10,000
Receivables {net} 72,500 126,060
Inventory 200,000 180,000
Accounts payable 50,000 90,000
Notea payable 34,000 60,000
Commuon stock, $100 par 400,000 400,000
Retained earnings ' 113,500 101,000

Additional Information:

L. The inventory turnover is 3.6 times, _
2. The return on cormmon stockholders’ equily is 22%. The company had ne additional
- paid-in capital. o :
3. The receivables turnaver is 9.4 mes.
4. The return on assets is 20%.
(20% ) 5. Total assets at December 31, 1995, were $605,000.

Retwired; ¢’

Compute the following for Shaker Corporation:
(a) Cost of goods sold for 1996,
{t} Net sales for 1996, ° -~ -
{c) Net income for 1996.
(d) Total assets at December 31, 1996.
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= ~ lttner Company manufactures 2 modeis of electronic valves for automaobile
engines, The design of valve 1023 is simpler than that for valve 1029, Jttner
Company’s plant has 2 service (51, 52) and 2 production departments (P1,
P2). Total overhead costs fog 1994 were $600,000. Of 1his total, $100,000 was
traced to $1, $160,000 traced to 52, $200,000 traced 1o P), and $140,000
traced to P2. The existing cost accounting system allocates overhead costs in
the foliowlng 2 stages. [n Stage 1, overhiead costs of service department 51 are
allocated to the production departments based on the proportion of their
respective machine-hours, and 52 overhead costs ate allocated In the propor-
tion of their total direct labor howrs. In Slage 2, separate overhead rates are
determined for the 2 production departments on the basis of direct labos
hours (DLH) to assign averhead costs to 2 products. The direct lalor wage rate
Is $10 per hour jn both production departments.

Total Direcl Labor 1ours

Product Pl . P2 Total
1023 1,500 2,000 3,500
1029 1,500 3,000 4,500
Total 3,000 5,000 B,(00
"1 P2
Machine-hours 400 a(i0

An activity-based costing system has been propuscd; it traces produciion
overhead to 4 cost pools, each identifled with a uiligue cost driver as pre-
sented in the following table:

Actlvity Cosl Driver Levels
Activity Costs Total 1023 1029
Pt, DL $ 90,000 3,000 1,500 1,500
P2, LY 1083000 5000 % 2,000 3,000
Setup hours 200,000 200 50 150
Number of inspections 210,000 300 150 330

Total overhead costs 3600,000

Other relevarit information fotlows:

023 i029
Sales price pet unit $120 $150
Materials cost per unit 60 80
]
(25%) Number of units sold 5,000 6,000
REQUIRED:
~ {a) Determine uait product costs using the existing accounting system.
-, (b) Determine unit product costs using the proposed ABC method.
(€) Analyze the profitability of the 2 products. What should Ittner do to
improve its profitability?
i - On January 1, 1987, Dew-All

Company leased a warehouse from Stayfit Company by signing a noncancelable Slteen-
year lease. The lease terms call for a cash payment of $50,000 immediately, and cash
payments of $50,000 to be made at the end of each year during the fifteec-year term of
the lease. Dew-All Company has the option to purchase the warehouse at a bargain price
T at the end of the lease tesm. The warehouse has been given an estimated useful life of
twenty years, after which no residual value is expected. Dew-All uses the siraight-line
- method of depreciation on all ofits plant assets. The market rate of intercst was 1 % at the
(23%) time the lease was sighed. (Round all amounts to the nearest dollar.) -
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Required:

Show the accounts and amounts pertairing to the lease and the leased asset as they
would appear on Dew-All's balance sheet on December 31, 1988, and an its incame
statement for the year ended December 31, 1988,
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